"11 F 1 &
EB A #HDCP 10.0
2EZH & N% #HDCP 9.5
E3 KM FH #HDCP 115
20114 g 1 B yERbyHC. C '10-05-21
N= |WN=F4 | Wb nyh W=ty | W-1Y | NP | DC
K & GROSS| HDCP | NET Ba | 5 B ] AVE £ | $ |IEfL
® 15 85.0 145 70.5 5 25 9 0 30.0 1.67 30| 1667 0] 0 1
& B3 83.0 120 71.0 4 200 11 1 33.0 1.83] 10.0] 5556 1] 1 2
x4 &8 87.0 125 745 3 375 7 0 32.0 1.78 30/ 1667 0] o 3
AT BEH 97.0 19.5 715 1 525 3 0 33.0 1.83 30 1667 0] 0 4
BRIR B 94.0 16.0 78.0 1 350 3 1 33.0 1.83 30/ 1667 0] o 5
S B5 87.0 5.5 81.5 1 525 8 0 29.0 1.61 30/ 1667 0] o 6
A EA 99.0 17.0 82.0 1 750 2 0 37.0 2.06 20 1111 o] o 7
KR FE 103.0 20.5 82.5 1 575 1 0 37.0 2.06 20 1111 o] o 8
E%H =5 96.0 11.0 85.0 1 900 4 0 38.0 2.11 50 2778 1] 1 9
SNk FKal 112.0 25.0 87.0 1] 1000 1 0 38.0 2.11 1.0 556 0 0 10
FIH BiE 90.0 25 87.5 1 1025 5 0 31.0 1.72 20 1111 o] o 11
= B 106.0 14.0 92.0 1] 1250 2 0 36.0 2.00 1.0 556 0 0 12
=1 F8| 0.0 0 0.00 0.00
EFEAR 0.0 0 0.00 0.00
EAX #T= 0.0 0 0.00 0.00
2% 5 0.0 0 0.00 0.00
0.0 0 0.00 0.00
0.0 0 0.00 0.00
&% # # #a## | 7500 56 2[407.00000 # 38 # 2]  olunsn
B35 94.9|######E| 80.8] #### 625 4.7 0.17 33.9 188] 32 17.6[0.17] 0.17[####
( 18 kIl N— 71)
K & #H DCP TR
Ei3 8iE 25 1
SR B5 55 1
EH =5 11.0 1
& B3 95 4
N1 115 3
=i Bia 14.0 1
#® IR 10.0 5
BRIR B 16.0 1
A EA 17.0 1
K BEH 195 1
KRS FE 20.0 1
EA &= 225 0
ngE K= 250 1
EFEARR 250 0
2% 5 21.0 0
A1 F8| 19.0 0
0




